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#1: What are the prime factors for 727

26




#2: Simplify:

—-10— -7

5 —— —8

a) 17,13
b) -17, -13
c) -3

d) 3,-3

e) 10,5

29



#3: Simplify:

—4(—3)?
P )

(2 = (=22

32



#4: Simplify:

—1(=3)(=2)(5-3)

a) 12
b) -12

d) -6
e) O

35



#5: Simplify:

52x—3)

a) 10x-15
b) 10x+15
c) -5

d) 5x-5

e) -10x-15

38



#6: Write a math expression:

Twice the difference of a
number and twelve is =?

a) 2x-12
b) x-12
) 2-12
d) 2(x-12)
e) x+12-2

41



#7: Evaluate forx =3,y =-2

—2(x — 3y)

a) 12
b) 6

c) -2
d) -12
e) -18

44



#8: Simplify

5x% —2 —x + 3x% + 4x

8x-3
8x2+3x-2
3x-4
5x2+3x-2
-3x2+5x+2

47



#9: Simplify

2y3(4x)3x%xy?

a) 24x%y?
b) 12x*y?
c) 24xey*
d) 14x3y?
e) 24x4y*

50



#10: Simplify

a) 75

b) 2,401
c) 16,807
d) 35,240
e) 18,607

53



#11: What is the area?

3x+1

a) 6x%+x

b) 6x%+2x
c) 5x%+x+1
d) 5x%+2x
e) 6x%+x+2

56



#12:
What are the coordinates of the two points?

Y
:.sl..
4
3
2 O
1
-54-3.2-11 1 2 3 4 5 X
v 2
e 3
i -4
-5
1

58



#1: What are the prime factors for 72?

1

25



#2: Simplify:

—-10 — =7

—\0+1=-5

27



#3: Simplify:




#4: Simplify: ' P (\

a) 12 M.‘
(_b) -12) 5
~1(=3)(=2)(5 — 3) o) 6 D
- e d) -6 A+
2 e) 0 S -

-3;?-—2;;2-_ s -\2
D o ¥

31



#5: Simplify:

a) 10x-15

b) 10x+15
5(2x — 3) c) -5

d) 5x-5

e) -10x-15
AN >
5( 2% 73 fij




#6: Write a math expression:

a) 2x-12
| b) x-12
Twice the difference of a )
_ c) 2-12
number and twelve is =? m
e) x+12-2

2(%-12)

36






#8: Simplify

a) _8x-3
| @X2+3X'D
Sx2= 2+ 3x2Fix ) 3x4
ks N d) 5x2+3x-2
e) -3x2+5x+2

SX* 4+ 3yt = §x% )

%+ 4 x=3x%0[C |
-2 = =2

:8 X2+'3)<_2-

40



#9: Simplify

42



#10: Simplify

7@=?‘
.77

—
—

a) 75

b
c) 16,807

d) 35,240
e) 18,607

= \(p, 07

44



#\?: What is the area? A - -Q . w

3x+1

a) 6x%+x

c) 5x%+x+1
d) 5x%+2x
e) 6x%+x+2

A= (Bx+V)(2x)

A= bx"+ 2X




Hame |2,

What are the coordinates of the two points?

Red (3,2.)




